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Time allowed.: 3 hours | [ Maximum marks : 80
Syifadmy .3 72 | [ HPFTH 5% : 80

General Instructions :
(1) All questions are compulsory.

(ii)  The question paper consists of 30 questions divided into four sections—

A, B, C and D. Section A comprises of ten questions of 1 mark each,

{PT.O.



Section B comprises of five questions of 2 marks each, Section C
comprises of ten questions of 3 marks each and Section D comprises

of five questions of 6 marks each.

(iii)  All questions in Section A are to be answered in one wors. >z sentence
or as per the exact requirement of the question.

(iv)  There is no overall choice. However, an internal c:::2: "o Zz:in
provided in one question of 2 marks each, three ques::-=; -~ > —~
each and two questions of 6 marks each. You have to =7c 77 7 g ° 3
of the alternative in all such questions.

(v)  In question on construction, the drawings should bc #5655 57" -
as per the given measurements.

(vi)  Use of calculators is not permitted
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Section A
Qg A

Question Number 1 to 10 carry 1 mark each.
YT WEAT 1 W 10 T WeTh WO HT 1 ITF |

1. The decimal expansion of the rational number will terminate after

24537

how many places of decimals ?

oRi e P avHer ¥ R I A% Wi 2 Y

24 53

2. For what value of £, (—4) is a zero of the polynomial x> =w< (2k+2) ? _

k % for o & T, (—4) 9 2 — x — (2k £'2) T U I B 7

3. For what value of p, are 2p— 1, 7 and 3 pthree consecutive terms of an A.P. ?

p % B0 AH % T 2p — 1, 7 3R 3p ©F R A & o7 Huva ag &7

4. In Fig. 1, CP and CQuare tangents to a circle with centre O. ARB is another
tangent touchingtheeircle at R. [fCP =11 cm, and BC = 7 cm, then find the
length of BR.

30/1/1 3 [ PT.O.
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wFfd 1 #, CP awr CQ &% O a1 37 #1 TI9 2| ARB ¥ #I TF
s e A B gg s g R m o= == ¥ =f Cp = 11 ¥t qun
BC =7 @t 2, 9 BR & T8 310 Fri=

[}

InFig. 2, £ M=/ N =46° Express xin tzrms of ¢, bande where a. - 7.2 -
are lengths of LM, MN and NK respectively,

STMHRT 2/, 4 M~ £ N —46°, x HIHH a. b 707 ¢ & forRag sl o, 5 3 ¢
T@rave LM, MN&IT NK 3 SHYT: TR T £ |
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1

If sin 6 = then find the value of (2 cot? B +2).

1
szasinezg%?h, (2 cot? @ + 2) %I TH JTd it |

Find the value of a so that the point (3, g) lies on the line representéd by
2x — 3y = 5.

g %1 % O 314 it foaes o fag (3, a), 2x - 3y = 5 g1 (&fUq W W
e 81

A cylinder and a cone are of same base radius and ofisame height. Find the

ratio of the volume of cylinder to that of the cone.

T qeH ad oig & uR R Hreand gued 99t 3wkt Samgat ff aam 8| sew
% ST T TF & FEA § G, =it |

Find the distance betwéen the points [%SZJ and [%2]
forgati (?,2} qef [%zj % Heg i gl JW A |

Write the median class of the following distribution :

Classes ~ Frequency

0-10 4
10-20 4
20-30 ' 3
30-40 10
40-50 12
50-60 8
60-70 4
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Gl AR
0-10 4
10-20 4
20-30 3
30-40 10
40-50 12
50-60 8
60-70 4
Section B
guvs ¥

Question Number 11 to 15 carry 2 marks each.
9 HEAT 11 ¥ 15 T T T %, 2 3% T

11.  Ifthe polynomial 6x* +8x>+ 17x? + 21x+ 7 is divided by another polynomial
3x? + 4x + I{'the remainder comes out to be (ax + b), find ¢ and 5.

afe Jgug 6x" 8y + 1722 + 21x + 7 FI TH A TGUQ 3x? + 4x + 1 § AWM
T TOIERA (ax + b) A B A ¢ q9 b F AF F1d FiT)

12.", Find the value(s) of & for which the pair of linear equations ix + 3y=%-2 and

12x + ky = k has no solution,

k & @ WH T R R g wfiEm gm ke - 3y = &k - 2 3R
12x + ky = & 1 1% 84 T Q|
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13, IfS,, the sum of first nterms of an A P. is given by S,, = 3n% — 4x, then find its

nth term.

gfe forell wrorat ot 3 9B W= F AWM S, = 302 — 4n &, T TH THR HOA0
F1 #31 9 F1F I |

14.  Two tangents PA and PB are drawn to a circle with centre O from an external
point P. Prove that ZAPB =2 ZOAB.

Or

Prove that the paralielogram cireumseribing a circle is a rhombus.

F% O a0 39 W a1y fog P ' et @rd A qur PB &= T 3| frg Aifvm
5 ZAPB =2 ZOAB:

A
‘\
P<3
N |

AR 3

¥ar

firg i T foredt g9 & i gura agds e B 2|
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15.  Simplify : Si?ngifﬁiee* sin 6 cos 8

.3 3

sin” 0 +c¢cos” 6 ) .
oA il - - + sin O cos 6

sin0 + cosB

Section C
LC LG

Question Number 16 to 25 carry 3 marks each.
T GEAT 16 W 25 TH T WA F 3 7F §

16. Prove that \/5 18 an irrational number.

fag Fifsu fF /5 1= sofima gen )

17.  Solve the following pair of equations :

BEIL
x—1 y-2 2

18. | The sum of 4th and 8th terms of an A.P. i1s 24 and sum of 6th and 10th terms
is44. Find AP.

ferelt et 2ofl 3 NG qom 3T IR AN 24 B 3R TS AN 38 GG A
44 3| TR A0ft Fra Fif |
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~4, Construct a A ABC in which BC = 6.5 cm, AB = 4.5 cm and ZABC = 60°.

: _ o : 3
Construct a triangle similar to this triangle whose sides are 7 of the

corresponding sides of the triangle ABC.

T s ABC &l w1 Hhilwg el BC = 6.5 @i, AB = 4.5 @t &7
ZABC = 60° 2| 38 9%y UF g &) wAr Sifse f5edf s A ABC

1 5 e A 2

0. In Fig. 4, A ABC is right angled at C and DEs1y, AB, Prove that
A ABC ~ A ADE and hence find the [engths of AE.and DE.

A
E T
3om
5
2cm
¢ 12cm =]
B C
Fig. 4
Or

In Fig. 5, DEFGis'a square and ZBAC = 90°. Show that DE? = BD x EC.

21 9 { PT.O.
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ARG 4 H, ABC & GRH B 3 T5&=61 S0 C g9 ¢ 991 DE L AB
2| fag Fifu i A ABC ~ A ADE. 315 AE 3w DE &) s 3@ FiRg |

HUAFT

sRfd 5 #, DEFG s @ g a1 /BAC = 90% 2} Tag <hifwm f
DE? = BD x EC. '

C
E
D
F
M
B G A
3 5

Find the value of'sin 30° geometrically,
Or
Without using trigonometrical tables, evaluate :

c0858"° \ sin 22° c0s38° cosec 52°
sin32° cos68°  tan18°.tan35° tan 60°tan 72°tan 55°

ST FRT sin30° 1 WM 3@ A
steran
PrepoTieia URell = g TRy fomn o s e

cos58° N sin22° _ c0s38° cosec 52°
sin32°  cos68° tan18°tan35° tan60°tan 72°tan 55°

10
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Find the point on y-axis which is equidistant from the potnts (5, —2) and
(3. 2).

Or
The line segment joining the points A (2,1) and B (5, —8) is trisected at the
points P and Q) such that P is nearer to A. 1f P also lies on the line given by

2x-y + k=(, find the value of £.

y-3141 W =g fa=g WA Aifere < 6 fargadt (5, —2) 7o (-3, 2) A Tl W B
2 |

BB
frgatt A (2,1) @ B (5, -8) & WM 3wt @S # farg P a1 Q &¥
o T W ¥ fr feg P frg A % sk R 21 9k g P @
2x—y + k = 0 R oft 8@ A £ =1 W 719 St

If P (x, y) is any point on the line joiningithe points A («, 0) and B (0, 4), then

show that £+ P 1.

a b

| A P (x, y) gt A (0l 0), B (0, 5) ) firem a1t Yarave ® @ 8 ot fag

171

E X:
$ifem T —+ 270

In Fig. 6, PQ = 24 cim, PR = 7 ¢m and O is the centre of the circle. Find the

areacof.shaded region (take © = 3.14)
Q

Fig. 6

11 [ PT.O.



25.

AFM 6 B, PQ = 24 I1ft, PR = 7 TH @1 O I &1 s, & | DHIhd &F &7
BAGA T FIE| (n = 3.14 i)

P
g 6
The king, queen and jack of clubs are removed from a deck of 52 piaving

cards and the remaining cards are shuffled. A card is drawn from the remainir.z

cards. Find the probability of getting a card of (i) heart (ii) queen (iii) clubs.

52 1 <t AT St T T | TS =6 Sewe sy a1 A g2 T 991 I
Tl I IS THR el T T8 TAhA | Th I6T Wil T | WRkeRdr Jd
Fifere fop it T T (3) O Sl TR R (i) AT 9 (i) Fafem @ o oan

Section D
Tug g

Question Number 26 to 30 earry 6 marks each.
gv &A1 26 T 30 9% T Y F 6 3ITF 2

26.

30/1/1

The sum) of the squares of two consecutive odd numbers i1s 394. Find the
numbers. '

Or
Places A and B are 100 km apart on a highway, One car starts from A and
another from B at the same time. If the cars travel in the same direction at
different specds, they meet in 5 hours. If they travel towards each other, they

meef in 1 hour. What are the speeds of the two cars ?

12
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¥ Fuwrd fowm demstt % o @1 A 394 B wEAW Fra i

areran
T TET WA A 3R B, 100 Tramtethl gli W2 | 0 F1 A ¥ au @l
FF B F U 2 O o IR et 8 | 3fe 3 i i - =ret 9w @
§geei gt s w2 1 forerdt € 1 afe oz forada fameti § werd € o weh g o i
7| 241 FR 6l T TG Rk

Prove that, if a line is drawn parallel to one side of a triangle to'intersect'the
other two sides in distinct points, the other two sides are divided,in the same
ratio.

Using the above result, do the following :

[n Fig. 7, DE||BC and BD = CEL. Prove that A ABC is an isosceles triangle.
A

Fig. 7
g #1fan, afy foret Brgerahl s o % wumr o= 91 yyenet et i fergen
7 HfA=ead Rd guhIE T w1 ag g i 1= 1 st S quH S1gare
T faurfad et B

g Em R, e fifae
3FE, 7 . DE|IBC W BD — CE ¢ | at fag Hifsig &F A ABC ws unfzang
fags 21 A
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28.

29.
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A straight highway leads to the foot of a tower. A man standing at the top of
the tower observes a car at an angle of depression of 30°, which is approaching
the foot of the tower with a uniform speed. Six seconds later the angle of
depression of the car is found to be 60°. Find the time taken by the car to

reach the foot of the tower from this point.

Teh HET TSI Ueh HIHR % 978 7 911 8 | HHR o B W @31 U SiaH]
I FT 30° & A HIV W IEGT & S 76 d9R 3 918 FI IR FEEE I
A S 81 B GHUS ST SR H TG R0 60° B S B | 39 forg AR *
& T TE W R T TR TR ' 9 SR

From a solid cylinder whose height is 8 cm and radius 6 cm, a conical cavity
of height 8 cm and of base radius 6 cm, is hollowed out. Find the volume of
the remaining solid correct to two places of decimals. Also find the total surface
area of the remaining solid. (take 1= 3.1416)

Or
In Fig 8, ABC is a right triangle right angled at A. Find the area of shaded
region if AB = 6 cm, BC= 10.em and Q is the centre of the incircle of A ABC.

(take m =3.14) :
A

Fig. 8
U 38 S i Farg g ol 791 B 6 U R | 3W @ 8 Bft S A 6w
e = U TeaTeRR T (cavity) #F12 Toram ST €1 919 5= 319 1 9 <sHeE
T T SO J1d FIY qot 99 3 1 AU g8 Smhel o W@ e
(n = 3.1416 &hfr)
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HAUqAT

sTpfd 8 B, A ABC 91 A T UHAI § | SEThd HI 1 &THE J1d HISY
afd AB = 6 #H1, BC = 10 8 37k 0, A ABC & 3T:J7 &I % 2|

(m = 3.14 FF)
A
0
C // ¥ ol \\ B
3T 8
The following table gives the daily income of S0"Workers‘of a factory :
Daily income (in Rs.) | 100-120 | 120.440}140=160 | 160-180 | 180-200
Nﬁmber of workers 12 14 8 6 10

Find the Mean, Mode and Median ef the above data.

foret Bl o 50 HH HA TR IRRa] w1 Sfdfed 1T 1 S0 T arforern §

fear T g
&feh 31 (3.0) 100-120| 120-140| 140-160 | 160-180 | 180-200
ST 6] %1 12 14 8 6 10

THITHITERS! T HILH, TgeTsh qUT WIETH 14 Hifeg |
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